Réalise l’opération qui est possible ; barre celle qui est impossible. 
	6 – 3 =
	
	3 – 6 =


	8 - 9 =
	
	9 - 8 =


	4 – 2 =
	
	2 – 4 =


	7 - 9 =
	
	9 - 7 =


	1 - 5 =
	
	5 – 1 =


	4 – 3 = 
	
	3 - 4 =


	5 - 2 =
	
	2 – 5 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	5 – 3 =
	
	3 – 5 =


	8 - 2 =
	
	2 - 8 =


	7 – 2 =
	
	2 – 7 =


	7 - 5 =
	
	5 - 7 =


	4 - 5 =
	
	5 – 4 =


	4 – 2 = 
	
	2 - 4 =


	9 - 2 =
	
	2 – 9 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	6 – 1 =
	
	1 – 6 =


	5 - 9 =
	
	9 - 5 =


	4 – 7 =
	
	7 – 4 =


	1 - 9 =
	
	9 - 1 =


	1 - 2 =
	
	2 – 1 =


	0 – 3 = 
	
	3 - 0 =


	6 - 2 =
	
	2 – 6 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	8 – 3 =
	
	3 – 8 =


	5 - 9 =
	
	9 - 5 =


	1 – 2 =
	
	2 – 1 =


	7 - 2 =
	
	2 - 7 =


	6 - 5 =
	
	5 – 6 =


	4 – 5 = 
	
	5 - 4 =


	5 - 3 =
	
	3 – 5 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	4 – 3 =
	
	3 – 4 =


	8 - 5 =
	
	5 - 8 =


	3 – 2 =
	
	2 – 3 =


	0 - 9 =
	
	9 - 0 =


	4 - 5 =
	
	5 – 4 =


	4 – 3 = 
	
	3 - 4 =


	5 - 2 =
	
	2 – 5 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	2 – 3 =
	
	3 – 2 =


	4 - 9 =
	
	9 - 4 =


	6 – 2 =
	
	2 – 6 =


	6 - 9 =
	
	9 - 6 =


	8 - 5 =
	
	5 – 8 =


	9 – 3 = 
	
	3 - 9 =


	4 - 2 =
	
	2 – 4 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	2 – 1 =
	
	1 – 2 =


	8 - 4 =
	
	4 - 8 =


	4 – 10 =
	
	10 – 4 =


	5 - 9 =
	
	9 - 5 =


	3 - 5 =
	
	5 – 3 =


	4 – 2 = 
	
	2 - 4 =


	7 - 2 =
	
	2 – 7 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	4 – 3 =
	
	3 – 4 =


	3 - 9 =
	
	9 - 3 =


	6 – 2 =
	
	2 – 6 =


	4 - 9 =
	
	9 - 4 =


	0 - 5 =
	
	5 – 0 =


	2 – 3 = 
	
	3 - 2 =


	1 - 2 =
	
	2 – 1 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	9 – 7 =
	
	7 – 9 =


	10 - 9 =
	
	9 - 10 =


	2 – 5 =
	
	5 – 2 =


	4 - 9 =
	
	9 - 4 =


	6 - 5 =
	
	5 – 6 =


	7 – 3 = 
	
	3 - 7 =


	3 - 2 =
	
	2 – 3 =


Réalise l’opération qui est possible ; barre celle qui est impossible. 

	4 – 3 =
	
	3 – 4 =


	8 - 5 =
	
	5 - 8 =


	1 – 2 =
	
	2 – 1 =


	7 – 0 =
	
	0 - 7 =


	6 - 5 =
	
	5 – 6 =


	5 – 3 = 
	
	3 - 5 =


	7 - 2 =
	
	2 – 7 =


